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Roll No. on the Test Booklet
in the Box provided along
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side. DO NOT write anything

else on the Test Booklet.

YOU ARE REQUIRED TO FILL UP & DARKEN ROLL NO.,
TEST BOOKLET/QUESTION BOOKLET SERIES IN THE
ANSWER SHEET AS WELL AS FILL UP TEST
BOOKLET/QUESTION BOOKLET SERIES AND SERIAL NO.
AND ANSWER SHEET SERIAL NO. IN THE ATTENDANCE
SHEET CAREFULLY. WRONGLY FILLED UP ANSWER
SHEETS ARE LIABLE FOR REJECTION AT THE RISK OF
THE CANDIDATE.

This Test Booklet contains 80 items (questions) in both English
and Odia version. Each item (question) comprises four responses
(answers). You have to select the correct response (answer) which you
want to mark (darken) on the Answer Sheet. In case, you feel that
there is more than one correct response (answer), you should mark
(darken)themspome(answer)whichyoucansiderthebest.ln.any
case, choose ONLY ONE response (answer) for each item (question).
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separate Answer Sheet provided, by using BALL POINT PEN
(BLUE OR BLACK). See instructions in the Answer Sheet.

@@ All items (quesﬁo:sizo carry equal marks. All items

uestions) are compulsory.

(i) g)r each question for which a wrong answer has been
given by the candidate, one-third (0.33) of the marks
assigned to that question shall be deducted as penalt)-'. )

(iii) If candidates give more than one response (angwer), it will
be treated as wrong response (answer) even if one of the
given responses (answers) happens to be comct‘nnd there
will be same penalty as above to that item (question).

u proceed to mark (darken) in the Answer Sheet the
rBef:om wpvhxious items (questions) in the Test Booklet, you

have to fill in some particulars in the Answer Sheet as per
ins‘:'uctions sent to you with your Admission Certificate.

. Cre ncy L1

Aﬁayouhaveeompletedﬁlﬁncinallyourmponmonthe ;

and after conclusion of the exammatwn, you
An''valm|xlclerlmm:lsm”(:verwl:heInvwh' ilator the Answer Sheet |’nuedto
Youmallowodﬁotnkewithyouthecandldateseopyl
e oftheAnnwerShqetalongwithtbeTestBooklet,

Mm;‘;ﬁonofﬂmmminaﬁon. for your reference.

10. ‘ShoetlﬂormughworkmappendedintheTeatBookletnttha

10. Q18I 9R6R] & 689 VAR Rough Sheet T'0Q QIAINE |

QQII 2I0A T6Q A6 A6, PN AIB AF6RTI 95] 60 <@ ol
QR6RQ 6a 676 98 PR ¥4 FaIRge G 6Med carda qal
I GaRe Qge QAR | 9% 6a%ad caRaNd, o] 0dede @d
gMQ AAIP AGea 6aIT and ao1al geseq Jaide |
29131 @R6RQ JGR A, B, C G DQ R QI6Q 60F 98 998 6]
(@R R4 99) IR 97 AR Ag6R IGeTY OR AR Jea QA |
AT GRERQ 68 FUAIRKYS
o Sesa £ 6IRRR
mlaagfqgeseqseam 0es 2024 (Hﬂ
B ene @ |
£67 990 GG6R M0 OANAI QEER] / 94 MR 9A 6
cORAAeQ AR OF gea SR e, IRE eaar 3q 6
00191 Qe6RT/ 94 gesnq 3ae 6 §Ae w1 aea 3 ¢fe
QIR 2T 994 AT IRd 91 | PN IO CARYR A9 IR AR
AT 692 eaeia1 g96 | weaK and SRea gigh ek
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Q0% 9g6R AIP @8 57 94 | AT gen 6aITN @ e OR 98l
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990 0g6R AaITl GRERT 68 g4I AN ARR IR 516 gRAl
Q9@ §91@ Admission Certificate6Q @I ARG 69 §AQ
48 o2n @9R 0868 gRd RQIg 96< |
290 0g6R §AR NS ARA R 6ANARAI G6R 6 AN AT
069, 9AQ FRIAINER RRGAGY §6N ARNBEY 28164 A5 5] |
aaIal 689 6291 O6a g @3 / eeede] Fol QU Qe
Qa1 geeaq QEINIER AR 6RAAIRER, 171 699% Fea Jo
as| . -
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g;::t:ibos Q. Nos. T ang 2) :
by two i°w & statement followed

3 nferences. Ch h
infe . oose the
fronl;ent({f that can be inferred

. 1€ given statement by
Selecting the right option.

L. Statement :

Out of 20 students in a class,

}5 passed in English and 18 passed
In Mathematics,

Inferences :

There are few students who
passed in both the subjects.

No étudent failed in both the
subjects.

L
/
J-
y Both inferences I and II follow
y Only inference I follows
(C) Only inference II follows

(D) Neither inference I

nor
inference II follow

2. Statement :

Due to the rapid increase in the
pandemic most of the states are
locked down.

Inferences :

\}/ The pandemic is dangerous

)A)/‘ Both inferences I and II follow

(B). Neither inference I nor
inference II follows

(C) Only inference I follows
(D) Only inference II follows

\/II. The pandemic will spread rapidly

G698 (Qq e 1 9@° 2@%@
ged 2gAIR Q6R 1@ IgR FULIR |
Q0] Ges 00f @@ g8 QqeQ
AGAIRQAIAIR AIGQ 62IR AGAIR ¥ |

o~ __ o~

Qe
601G 64616@ 20 @€l BIYE FRIQ 15 @€
AR IR 18 94 A4P6Q I FASS

AR

I o0 3906 dIq K929l @8 8Ig
288 |

II. edd 819 o0 J996Q
6T 62IR RIS |

A) eea 2gae I <o II 2ged
X038 |

(B) 629@ 2gAIR I 29A048 Q6T |
(C) 6 ageaIe II 2GaAad @a3

(D) 2gae 1 @q 2gae I aAgaed
QQa |

QQa:

AN g6 9F 62¢ ZYRr@ QIe

ARGIAR 62168 |

aAgalQ:
L aeqe foegd

IIL.  a2qaIe geadeq e |
A) o9 29aIe I 9e° II 29Qed
Q98 |

(B) agae I @q agae II agaed
Qa3 Q1T |

(©) 6999 29019 1 216204 Qad|

(D) e@ee 2gaIR I 2904 9ad!
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Dlrect'ion (Q. Nos. 3 to 6) : Read
the given passage and answer
the questions that follow. Your
answers to these questions

should be based on the passage
only.

In a disarmingly frank talk at the
Indian Merchants Chamber in
Mumbai, the Japanese Ambassador
In India dwelt at length on issues
that exercise the minds of Japanese
investors when they consider
investment proposals - in India.
Raising the question - “What
comparative advantages does India
offers as an investment market?”, he
said though labour in India is
expensive, wage-levels are offset by
productivity level to a large extent.

Acknowledging that the vastness
of the Indian market is a great
inducement for investment in
manufacturing industry, he
wondered if it was justifiable to
provide that overseas termittance of
profit in foreign exchange be fully
covered by exchange earnings as
had been done. Significantly, on the
eve of the Prime Minister’s visit to
Japan, the government delinked
profits repatriation from exports,
meeting  this demand. The
Ambassador said foreign investors
needed to be assured of the
continuity and consistency of the
~ liberalisation policy and the fact that
new measures had been put into force
by means of administrative
notifications  without  amending
government laws acted as a damper.

The Ambassador pleaded for speedy
formulation of the exit policy and
pointed to. the highly restrictive
control by the government on
disinvestment by foreign partner in

e

_QI§ge gUIRRISa S1gEI0R aIel Agear

3t (99 v 3 @ 6 AR : 9N
Qe6Ret] I0RA gea g4deen @ee

G2 | 999 @9ef afcgeq A
6RIRYR! AR |

AR AR ﬂémq QI7Q 6Q @ 7S
9e° 99 CRIORIER WAGER RITIRT
QIYGE NABER F6RE AR PP F0IQ
@0Ql ANAEQ FIAN FEIRTRE AR
QI @RS AT R QUER @
QIIER AR FAYER | ‘NG IR
F6RERRIQ QMR @€ gRIAR I
gaie @60?" gdeoia 61 @@6m 64
QAR G AL 62RYER 7l F15E 39
QEUAAIGER QYIRS 2 FIA s
QUL |

QOO QRIGR  GdIRGl  RQLRITER
56QaIs IR AR 6906 69 F1RIR *3
6Q 2y gRIE RRYER 60 F6LF1FIER
Qieh J6081 21Qyg SR0F 219 FIRl 294
QU6 oAl KRR Qld @ ? QUKIRIE
RITIRGIZR FOQ AERIUFIA VN6 AR
201} god @8 AgIRY AIR gANIRERY
ARSI @AM | QIYGe QLYem 64
Q6261 F6RIRAING QAR F156Q
Goseel §e0l 9e° QeRIAl  2RR
EARE @ @A QAIAFR ARG ARIAGR
§oR 0Q6Rd QRN AAIAIRE, oI2l
R0 AP 1S8R |

RAYEM . IQ° RUAGER TR QA6ITER
Q6QaN 2aIRIee FIel FR6AIN QA6Q
QRIS ANS FC0IR FAQE 9% QEre
QAgeR | AP6 QUeea ARG @aea
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joint ventures in India. While it is
all too €asy to dismiss critical
comment on conditions in India
contemptuously, there can be little
doubt that if foreign investment is to

be wooed assiduously, we will have

to  meet exacting international
standards and cater at least

partially to what we may consider
the idiosyncrasies of our foreign
collaborators. The Japanese too
have passed through a stage in the
fifties when their products were
derided as substandard and shoddy.
That they have come out of that
ordeal of fire to emerge as an
economic superpower speaks a much
of their doggedness to pursue goals
against all odd’s acceptable
standards. There is no gainsaying
that the past record of Japanese

investment is a poor benchmark for
future expectations.

The author has appreciated the
Japanese for their :

(A) quality of producté
manufactured in the fifties

(B) passing thfough an ordeal

(C) perseverance in raising quality
of products :

(D) future expectations

. The purpose of the author in writing
this passage seems to be to:

(A) discourage foreign investment
Y “'in India

(B) critically * examine Indian
'investment environment

(C paixit a rosy picture of India’s
trade and commerce

CAINATQ 21T
(D) criticize government’s D) Wlas AR
hberahzatlon policy . QGRS 95l

QACRIGAIFRG  FSAYY  ATAINRAR
QIRER GIeR @09 Qge Q2@ IY6Q
6l6d QR Q1T 69 A7 F6ea1 FeedR
2IQ8 QBQIQ U6, 6969 2N aueéuola
AeQ8 gad @aqig ae | N2 A%e
206 6 APFANIER N 6!
AL6AITE F6ATRIQ JOd FRRIQ AGR |
RUARIANER I UPHRIRER 1@ ALYQ,
AR 96 QAT 6QCEEIER 6NN
QQIegEe FIAIRER Y G98 IR
QU2 FAARYR | 6QANEL @ 2T
IAEPQIR6a QNN 637
RaeIp 2l a2l aag  aglwui
JRRER AN AN FRQICA 6T
99eRIQ 9996Q | 1Y6R 6T A6
QE 6a QUM Besa 29ieq o
RIIER 214Gl AR IR YA NS |
oMEIR ARG 6AANTY 2§ AR
e ARgeM
(A) 9018 Qee6a QQFe gva
qeeal
(B) Y@ 2RAIR cox 96 RRAYIQ
(C) @9ea gaeal gaedisa

9eQ!
D) edguea a4l

<2 0368e5Q 6RYRIEA CRNNST QETSY

€609 :

(A) Qee6a JeeaiRcearg Faaide
@

(B) WUEG10R698 aR6Q8q
UCRNTRRR AR ANV FRR

(C) RUNG6ER TN 9 6eaIeR 9@
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superpower to :

I.  their ability to overcome any

ordeal
II. their tenacity =~ and
perserverance despite

unfavourable circumstances

ITI. their ability to improvise and
adapt to globally acceptable
quality levels.

(A) IandIIonly

(B) II and III only
* (C) IandIII only

(D) All the three

. In a row of students, Stephen is
sitting 3 to the left of Robert. If
Robert is 10t from the leftmost end
and 6tk from the rightmost end, then

what is the position of Stephen from

the rightmost end?

a) 8 MH?_H A) asqa
/(B) gth R (B) @eq
© ™ {___g_ﬁﬁ___g (C) @gq
©) 6 b D) 89

. According to th
e Japanese | 5. QIQIR Q 3

Ambassador, India  offers a a S ? Qﬁﬂm o
Comparative advantage to foreign St R sy
investors in terms of : gaIe @6Q |
(A) inexpensive labour A) 48i1ga
(B) abysmally low wage levels (B) s @A AgALQ
(C) higher productivity (C) @% @qIea?
(D) none of these (D) 4geR rIQ 6T @é‘f l

. The author attributes Japan’s | 6. 6REe LR 9@ a6cHoe 7268
emergence as an  economic

L @QGP Q0g6 Q6q 6I0IPER

AR G 6291 VUG IE:

I 696163 2RAQINIQ 98 FARIQ
[ |

Q0! ¥Q° I°RFRQ

III. &4929060 g2419 J4eRIga 20
QR0 Ie° ¢lId GAIRRIQ AAS!

(A) 14e°II6ae%
(B) II4<° III 62Q@
(C) I4e°III 6RQ%
D) QY TR

glerline @ dGea F6ae QRO
Qnaden geladieea 938 | 9 aes
QRaIdQ @ae Ie° QIRIeaId §IVAER
28, 6069 1218 AI9Q J6Taa AR ¥4 ?
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D- t. B — v W -
irection (Q. Nos. 8 to 10) ; Read F6wa (99 ey 8 9 10 AR) : &g

questions  that follow. Your ageRee 9§ R6QIegadeea eee

:}‘:gm‘:irsbe :)oa (tihese questions Q% | 990 AQ6ReER FUAIRYR 99
S - -

only. ~ed on the passage RIQER ZRIGS 63 @50 |

: JRAIRG  SIG6QIERIQ  6ARPAF 1@
The children were to be driven, as a 2668 Q2R IR 6FRERG YRl |
special treat, to the sands at % ,< o
| J?gbomugh_ Nicholas was not o be FERINIY AITQ ALY @ 6w, 6Q AR
of the party; he was in disgrace. g6 | 62QR 6QT ARIER 64 OIF QYRR

Only that morning he had refus
: ed to 3 o &
eat his_wholesome, breadi ot ol g% e U10 HIRQIQ AR SAEIRAER |

on the seemingly frivolous ground @106 NGER U@ 696 gl QR Q@ﬂl{?
that there was a frog in it. Older and NQ° amepie  (OF A1) OIF @R

wiser and better people (his aunt) ~
had told him that there could not S O g5 Q" MIBGR @ 6T @

possibly be a frog in his bread-and- | = JRUIER | 66¢ 64 AR RIS AFQ
milk and that he was not to talk g6¢ | caId 62 IRl A 2QeN AeR
o o continued, | - gocan) Glol GRRIQ WG QYeR Ye°
nevertheless, to talk what seemed | o g e 5 '
complete nonsense and described e 6QEIA A I9° 0F QAACA 9ge
W1thkmuch detail the coloration and YR P9 4R 6 | ASGIA TN
markings of the alleged frog. The 0 a 5
dramatic part of the incident was e il g ﬂlQQ
that there really was a frog in QIR YYOER 1@ 6T gl | 69 A6R
Nicholas’s basin of bread-and-milk; Qg 690160 Qggeml 604 64 9%l
he had put it there himself, so he 3 e , :
felt entitled to know something Q?QGQ 9 Mowg Imen.tgve %QJ
about it. The sin of taking a frog QIR 1@ 6QErY 67 IR YPIRA QT
from the garden and putting it ir}to NQ* Q1e AIg6R QIR AIgg 9ge @Yl
a bowl of wholesome bread-and-milk Q196 QQIIIReRI | O FeeIRIq §
was enlarged on at great length, but . e
the fact that stood out clearest in fR6Q N2Ig QUL @O AAA6R
the whole affair, as it presented AELATINER . 699 NG TR
itself to the mind of Nicholas, was =~
that the older, wiser, and better G%IQIQQ@I, ? e, Cluiaes, dee
profoundly in error in matters about | ANERIR 6Ja J9g6a Q6P goge
which- they had expressed - the Q ol aaide
utmost assurance. “You said there »GQQQSQ‘,‘ 6‘21846(1 °ge g o 9
couldn’t possibly be a frog in my 62ml | “g6r QuYEM 6Q 67l Qo' 1Q°
bread-and-milk; there was a frog in 1R6Q 696" @ 2RAER, 2P 67l QT
my bread-and-milk,” he repeated, 4 o &oac
with the insistence of a skilled fQo SIQG? GQGT ik 96? @ Qe
tactician who does not intend to @Q 9LE @@ ACRINIRY GLa @ IR 69
shift from favourable ground. ' gRaIgR Q6a |

CSP-24/2-A 6




8. What was the aunt t to tell
Nicholas? e

(A) That he should play with his
' cousins

(B) That he would be punished if
he misbehaved

(C) That he should have eaten the
bread and milk

(D) That he could choose to stay
back if he wished

9. What made Nicholas so sure about
what he said?

(A)
B)

He noticed it jumping in

He saw someone putting it in

His cousins had told him about
it

©)

(D) He himself had put it in

10. Why did Nicholas consider his aunt
had been proved to be wrong?

(A) She was forcing him to eat the

bread and milk

She had said there was no frog

B
"~ inthe bowl

(C) She never hstened to him

(D) She always scolded him

10.

PRNIQ § AIRQ! (aunt) Q€ QLRI
QIFEYER ?

(A)

(B)

©

(D)

QGQIGIIQ QI Q2 JI%EQ I6e 9&9
QITG 626m ?

(A)
(B)

©)

D)

feaInIq Q2R QIgYER 6a 9IS AR
on 9180 621983 ?

4)

(B)

©)

D)

64 64 CITQ ARNRE (cousin) &
Q20 63PN Q|

60 9% 6 AT NIV A3 OIF
Q8 QLR |

64 6Q @5 ¥e* F1Q NS AFQ
gl |

6d 6Q QIREM 6Q0I6a QFDIQ
Qe @RAIRER |

6Q 6Qg6M 64 12| 62RAFR! |

6Q 6QYEM 6ARREE 1Q §O6A
dRIRER |

QIF QAWINAAIER (cousins) VI
2l QFA6R @26 |

6Q §6@ 121Q OYIY6R |

6Q QIg QT IS QIR HRIF WK
QRY6R |
6Q (A1) RLRYER 64 UIMAIFER
6T @ gl |
6Q (FIRQY) GIT Q2 2 gdiew
QF |

6d (AIRQ) O1F WA R

CSP-24/2-A
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11. Look at this series ;
8, 22, 8, 28, 8§, ...

What number should come next?

@A 9
B) 29

© 32

)9}/34

12. Fill the blank in the middle of the

series :

SCD, TEF, UGH,V___, WKL
(4) CMN
®) UJI
46 VI

O) LT

11. <G 2genoq 69d :

12.

8, 22, 8, 289 8’ it
Qe 6ee a°a a1de /6] ?
@A) 9

B) 29
(C) 32

(D) 34

2geATa FRINIGER el SRR ged

@ |

. SCD, TEF, UGH, , WKL

A CMN

B) UJI

© VIJ

D) IJT

CSP-24/2-A




Direction (Q. Nos. 13 to 15) : | feda (@9 <w 13 @ 15): 9@

Study the given table carefully aeeg SRRITER 21 e 00ee!
. e @ a

and answer the questions that

follow : i ;
Semester Fees (In thousands) for five g8 Gredéa aiBd & aoign AR
different courses in 6 different years. T
6Q719Q & (LRIAEQ)
Year Course
Tech.|M.Se.[B.Ed. M Phil| Diploma | | - Qd b
2005 | 115 |68 |75 | 47 | 18 | e ki ot b ol

2006 | 145 | 6.4 [11.6] 58 | 39 2006(11.5 | 58 |75 | 47 |18

2006 | 14.5 6.4 116 | 5.8 3.2

2007 20 |(10.2|139| 8.6 4.8
e 2007| 20 102 |139 | 86 48

2008 22.2 114.6 (15.8| 12.7 .5.6 2008 | 22.2 14.6 15.8 12.7 5.6

2009 | 35.8 |17.7|185| 25.1 | 125 2009(35.8 | 17.7 . (185 | 2561 |126

2010(50.7 | 209 |[22.6 | 189 |14.9

2010 | 50.7 |20.9|22.6 18.9 14.9

18. What was the approximate per cent | 13. g/ @8 gaI6a 2007 AdgEa IQ.

i i semester fi f LR
increase in the semester fees o QI01ge 628G 363 QI3 §99F! 6960
B.Ed. course in the year 2007 as '
o - ® cRARYN?
compared to the previous year? w ’
(A) 26% 199 A) .26%
B) 30% B) 30%
22w :

© 20% x| © ek
(D) 16% (D) 16%

9 o - [P.T..

CSP-24/2-A



14. What was the average semester fee | 14. Qg @ Au6R IFANQY. AIOIGIAR
charged for M.Sc. course over all the 2IqI21d cafiga & 6a6e gl ?
years together? ;
(A) Rs. 12,700 (A) Rs. 12,700
(B)Rs. 12,600 (B) Rs. 12,600
(C) Rs. 12,060 (C) Rs. 12,060
(D) Rs. 12,070 (D) Rs. 12,070
15. The semester fee charged for M.Phil. | 15. 2008 ¢deie AR AN AR
course in the year 2008 was 210 62108l 6379R & 2009 Ad2ieR
approximately what percentage of. e . v
the semester fee charged for M.Sc. ANQQ. aioigedial 2IRia 621agel
course in the year 2009? 64figa Ta g9 6@6e 95ae gmi ?
A 67 \'L‘} A) 67
® 8¢ e ® 84
©) 80 \? ©) 80
@) 72 @ 72
16. Select a suitable figure from the four | 16. §g AIGQY A4 FRAR VI6AIT Faeq 19
alternatives that would complete the a
figure matrix. #dge o aIag |
. f Io ,o ] ﬁ m° o
\/
LI 2 X
1..2%78: A 15l 2: .8 0 vl
@ 1 @) 1
® 2 ® 2
C) 3 C) 3
) 4 D) 4
CSP-24/2-A 10
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[ '\
Directions (Q. Nos. 17

\ to 19): The
~ logic problems in this set

present you with three true
statements: Fact 1, Fact 2 and
Fact 3. Then, you are given three
more statements (labeled I, II
and III) and you must determine
which of these, if any, is also a
fact. One or two of the
statements could be true; all of
the statements could be true; or
none of the statements could be
true. Choose your answer based
solely on the information given

statements must also be a fact?

\}./ Atleast one girl has blue eyes..
J- Two of the children are boys.

III. The boys have brown éyeé.
y IT only

B) IandIII only

(C) II and Il only -

(D) None of the statements is a
known fact :

in the first three facts.
17. Fact 1: Jessica has four children.
Fact 2: Two of the children have
blue eyes and two of the
children have brown eyes.
Fact 3: Half of the children are
girls. : 25
OO 080
If the first three statements are
facts, which of the following

17.

TI1.

(640 (29 a4l 17 @ 19): €@ 629 69
gel oRe QY goe gny Fear e
Q98 gAIP Q6Q : QBN 1, QBN 2 IQ° AN
3 191060 gAY IR 36R1F 898 (I, I °
111 6R9R) GaIAIRE | gAg Faedag
a9Q 6 1gFe MR 60eF, A% 6ded,
@ Q94 | 661G @Q gaF 998 QM
62190168, A8 398 264 caIRAIGH; 34
676 98 QoY 62IRAI6A AIF | A
F6R oaNea GFUAIRYQ JoR! |U6R
RIQ @R 0BR AT |

o2l 1: 62dQIQ 9185 OmI 2188 |

eay 2: GRINIeE ARIQ QRG F1RalIY 1e°
ga6 JRIeQ AIGe 2Ig 218 |

o2l 3: GRIAIRE ARIQ 2 82 |

QG gan 56qI6 398 A6y, 6069 FIRAYE

3QR9ER IR 6995 AY 1@ ASY 624l

@7

I 20e06a 60IeY 32e f1ealy 28

II. JRAIeE kIR a5 g2l

qaﬂlm qiGaieIg 231
@
B)
(&)
D)

caee II
629% I ge° III
cee@ 11 9e° I

—~ o~ o~

6wa éqé Q€14 6% |
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2)

18.

)

| 20.

AC)

Fact 1 : All chickens are birds.
Fact 2 : Some chickens are hens.
Fact 3 : Female birds lay eggs.

If the first three statements are

facts, which of the following
statements must also be a fact?
. All birds lay eggs.
L Hens are birds.
III.  Some chickens are not hens.
(A) IIonly
(B) II and III only
(C) I II andIII
(D) None of the statements is a
known fact
19. Fact 1: Pictures can tell a story.
Fact2: All  storybooks  have
pictures.
Fact 3: Some storybooks have
words. ; T
If the first three statements are
facts, which of the following

statements must also be a fact?

I Pictures can tell a story
better than words can. -

The stories in storybooks are
very simple.

Some storybooks have both
words and pictures.

Tonly
IT only
ITI only

None of the statements is a
known fact

®)

D)

Which of the following is NOT
characteristics of problem situation?

\(}/ Size of the problem}
(B) Similarity of the problem

(C) Complexity of solution

(D) Organization of problem
situation

18. @an 1: 9N 9@l ad1 |

19.

20.

oon 2: 38 999 FIRGQeI 268 |
Qe 3: AIRAS! 281528 |

Q& gan G6RIT @q@ qAGY, 6069 FINYe
FRGFR AR 69T AGY6LR AISR?
I Qg a8l 29I Ges |

I  AegeeIKIes a1 |

III. ®8QQQ NIegee g8 |

(A) 6ee1I

(B) 6@9@ I19e° III

(C) I,IIwe°III

(D) 66T & AN REIGEI G6< |

Q2N 1: 5Q9RR IR QIEN QLAI6R |

Q2 2: ANY RIQIEN JIRER TG AN |

024 3: @8 RIRIEN JIREQ FR AN |

Q% gaa S6RIT IR ABY, 6069 FRYS
J909eR RIQ 6RUE A6 Q9] ?

I Oggee dR6AT RN
QLIS @2A6R |

IIL. Qg3 QAVGIYEe Qg0
Q@eR |

III. Q8 Qa9 ge6a a8 9e° o
Qe &N |

&) 6eerl

(B) 6@ Il

(C) eeeeIll

(D) 66T Q A Q€IS 6% |

JRge kg ceed QA kb

65984 g6 ?

(A) U AN

B) QIR QIR
©) QNI Tl
D) QY 998 *q0e

CSP-24/2-A
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" Read the following pasies

€ passage and = a
answer the Question No, 21 tq 95 Rl i I
following it ; 21 Q2599058 |

The diversity  of India is
tremendous; it ig obvious; it lies

QIGeR TG 26 Qe | 12l 2GS 99
the surface and anybody can see

on

o el it 6 QING6EQ ATS 6a 6ANGA 4 ¥2Q

Sell -~ with physical 6QYaIBEe | ¥R 6813 @
appearances as well ag with certain e
rfxental habits and traits, There is ARAIgER AR Zeva 6 48t
little in common, ‘to

: outward @00l aea afa J6a oif
seeming, between the Pathan of the . e eio o ot o

North-West and the Tamil in the far | FRIGR Q12169 §PURA OF caIeer 9Z0

South. Their racial stocks are not @F| 28| 62AINE FRIEA ARG IS &6R
the same, though there may be

common strands running through 1)l QIGEIC 3@ QAR §6% | 6AANER F B
;heén; they differ in face and figure, 419, SlIQY B CAITR I° ASIEQ 62 |
ood and clothing and of course 5 3

: ’ QeQ dolel diFle gewde e
language. In the North-western o o c . ' e
Frontier Province there is already NQEIQ dIl gowe 2w e 6Q0I6a

the breath of Central Asia and many

@lQIaca gl 2Aexra Jal R AN
a custom there, as in Kashmir,

reminds one of the countries on the AI96Q gQI 6Rageq A6R aRIRAN |
other side of the Himalayas. Pathan dOId 6AIRTY QANYPR 6ReR gl
popular dances are singularly like A PPN <

Russian Cossack dancing. Yet, with FI9 a9, Aelodlo W e one
all these differences, there is no Q6Q YOI QUEQ LA YN VEIIU6Y

mistaking the impress of India on

L ; , 609Q 92 QRIS QW6 )l ] |
the Pathan, as this is obvious on the

Tamil. This is not surprising, for ‘ 2l ALNSRR 6L | A 1@ QIS
these  border lands and. inde.ed 2BRIER F699 97 TATAR A 2VQ
Afghanistan also, were united with S i Y
India for thousands of years. The old 2RI 9 ol WIRG QLS IR 621N QLM |
Turkish and other races who | QANA AGAR GIQ ATARAR G Al

inhabited Afghanistan and parts of 1] 143 .
: AR @8 6996Q QA @gQl g€l
Central Asia before the advent of 6 &

- Islam were largely Buddhists and QOIS 2RI QIS ENGE 6418 Y6R e

earlier still, during the Qeriod of the sdaide 9eca 39 g6 | QIS 28R
Epics, Hindus. The frontier area was :

one of the principal centres of old godl RIee1e YR g 6RQYeR
Indian culture and it abounds stil_l arIQ 6915 &R |43 2180 169 & 0@
with ruins of monuments and SR ¥ 5

monasteries and especially, of the @ ¥°AIR6AV6Q dAJAl A6 QA 4R

CSP-24/2-A | 13 . [P.T.O.



great university of Taxila, which
was at the height of its fame two
thousand years ago, attracting
students from all over India as well
as different parts of Asia. Changes
of religion made a difference, but
could not change entirely the mental
backgrounds which the people of
those areas had developed.

The Pathan and the Tamil are two
extreme examples; the others lie
somewhere in between. All of them
have their dis-tinctive features, all
of them have still more the

distinguishing mark of India. It is’

fascinating to find how the Bengalis,
the Marathas, the Gujratis, the
Tamils, the Andhras, the Odias, the

Assamese, the Canarese, the
Malayalis, the Sindhis, the
Punjabis, the Pathans, the
Kashmiris, the Rajputs and the

great central block comprising the
Hindustani-speaking people, have
retained their peculiar
characteristics for hundreds of
years, have still more or less the
same virtues and failings of which
old tradition or record tells us and
yet have been throughout these ages
distinctively Indian, with the same

national heritage and the same set

of moral and mental qualities. There
"was something living and dynamic
“about this heritage which showed
itself in ways of living and a
philosophical attitude to life and its
problems. Ancient India, like
ancient China, was a world in itself,
a culture and a civilization which

gave shape to all things. Foreign |

oYY QU9 @198 B JSEIR gw, QIR

- Q6Qdn

2910 Q¥ Q64 HITR 0aF AR Q|
©a8QI 9Q (217 FAFNINA Al VIS 6
@eie Gon frag SIgAIRg 21ede
QgeRl | dfa OGeee 4@ didiey
2I§gm, @9 6AZ UIRR AT IATQ
aede qagdg agd  abeel
QAR | ‘

dol 68 eFR 9% @9l aALaE,
aAMNCER FI 6QTR QIR FAR RAB|
6QFIER ANTEQ F0Q 63FF 2T |
QAUAEA 02 0F AR AIGIA QLT |
QFIR1, ARIOY, RIS, SIFim, 2, 1A,
QRg1, AR, 21, agiel, qold,
QIR AVYS Y TQANM VAN
6RIAE FIal 900 AIR 6RQ1A 28R 9L
ae od 2@ 6arIeea Iedigee Jaa
0288 | 94l aRsaI G 6a9E AINQ 6AQ
Q8 8 YTRG! JoIRAN, QI8! Q¢ QI 641
QZ8 QAT 629ERER AN} KNG oY,
Qe 6RGR B AIRde g8 A@e g8
QA VGIL N RS | @

R1RRAITR 6371, F199 G YQIQ ANAWIYS
4@ QAR FCRININA gHIE F6Q | ZIOTR
91r 93 gI91R RIRS KO 1@ IQ A,
IR Q°YE B NG g, AIRI ANB &R
AR CORYR | YA g J6d
QRgRl e QPG gRITe eGgRI 1e°
gee QIeeId  Q°QEeR

influences poured in and often

CSP-24/2-A
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influenced that culture

CSP-24/2-A

: and were ~ .
absorb.ed. Disruptive tendenc?:: Q6QARIQ! AR 9@ Q63
gave rise immediately to an attempt ARINCIQ 8P CIRYR | ANGIQ AXAR
to find a synthesis. Some kind of 5 QIR0 AR YRR @ Y 99 *6F |
dream of unity has occupieq the 5
mind of India since the dawn of 692 QU QI gRNIQQ @Q 64 gl |
civilization. That unity was pnot gl QIRWIRE 9adR JqRe 9@
conceived as something im A5

: posed Aea1aad | 92 |
from out-side, a standardization of » i QQJQ -
externals or even of beliefs. It wag 2IQ (ReQ @99 G gAYl Mae
;olr(rlleﬂ;:ng .c(lieeper and within itg ARG AR QAN 1Q° 9@
old, the widest tolerance of belief a8 B¢
and custom was practised and every 930 TSRS T e
variety acknowledged and even QARG |
encouraged.

21. ‘Zh?.li‘: is _Tgid about the Pathan and | 21. 2geRedea GOK G SfiRAIRE S8A6R
: ? ' ~
the Tamil in the passage? @6 GG ?
_(Ay They have little in common A) QFERIER 6AARTA AR

gubwardly QIS ARSI

(B) They are culturally identical (B) Qrefe Jag AR IQIad

(C) They both originate from C) 99 6ag - 132 9§ AR /58S
Central Asia

(D) They share a similar religion (D) 6Q0I6R 631G LR

22. Why is it “not surprising” that India | 22. ‘QQ@ OIKIAIRG INITE @R” - 1 ABM
has influenced the Pathan? 2GRS §6% QTR ?
(A) Because the region was (A) Qed @ 28 I02de 96

historically united with India QIee Q@6 2°Y8

(B) Because they spoke Sanskrit B) Q08 ARCR ANA QAN 6QAIER
until recently Q°GE AUl AR FRYER

(C) Because they were always (C) Q90d 6Qa6e QWA @
isolated gem '

(D) Because they were traders with D) QA€ 6276 e AWe ASN
‘China QIRQIR AR2YER

15
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23. What does the passage say about
the historical religious affiliations of
Afghamstan and Central Asia?

yﬂey were Buddhist and
earlier Hindu
(B) They had no established religion
(C) They were always Islamic

(D) They followed Zoroastrianism

24. What does the author suggest about
the different Indian linguistic and
regional groups?

(A) They have lost all traditional
values .
(B) They retain distinct traits but
: share a national identity
(C) They are too different to be
unified

They are forced to assimilate

D)
. under central rule

25. What was India’s attitude toward
foreign influences, according to the
passage?

23. ZITAeAIe 8 699 YQ2 A6 Joede
6o Q2eRe ANFER Q' QRIS ?

caqee cdeudieag! 6 gaa
aduiaea 29 g6
canieea 6Mad goae e QT

CARNER QEQ QAR AUIRRQ)!
g6R

6ATIER  6RIRIG A AGARE
QQYER

A)

(B)
©)

D)

24. QI0GQ WAGe G 6RCAIRR IS

| QPIP6R 6AGIe @ aQINd geIe @688?

(A 6Qg@R QA3 AIGHRR. RIEAR

201083

6Q9ER Qoa 658QY Q2R G

AIg FIT1A A0SR Q2R AT

g 6210 6EQ AR 63ER 28
. @0Q RSB

6RQ1A IR 2RIINEQ e A2Ql
IR 62979 ARIAAUARS

(B)
©)

@)

25. Q624 gRIQ 9% QIRCR ARINIQ @'4?

(A) It ignored them altogether (A) <21 gQIgR Q6aB AR |

(B) It expelled them completely (B) <2 g4 Q6 699Fg LA
S S S . Qg |

() It absorbed and synthesised (O 21 6290Q 926 *QoR 6 AAFEe
; Shem QAR |

D) g} : nsll:ruggled to understand_ ; (D). ;;lq Qelqlqéq ?@QIOIQ' g Qad

CSP-24/2-A
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mhree numbers are in the ratio of

3:4:5 and their L.C.M. ig 2400
Their H.C.F. is .

/(A‘)’ 40
®) 80
- (C) 120

(D) 200

927. Half of 1 percent written as g
decimal is

>

B)
©)
D).

0.005
0.05
0.002
0.02

28/In a tea party there are 6 males and
4 females. A handshake is

| exchangéd between persons of the
same gender and a hug is exchanged

How many handshakeg and hugs

are exchanged? G A‘
726

A) 45

B) 39

©) 30

(D) None of t_hése

between persons of opposite gender.

26. G6RIT Qe 3 : 4 : 5 AFAIGER IL°
' 6Q0Ieea L.C.M. 2400 | 6Q7I9&Q
H.C.F. 6969 ?

40
80
120
200

(A)
(B)
©)
D)

27. QOF QUNCA CRNIAINYRI I 9G8R

2RI 6208 ?

@)
®)
©
D)

0.005
0.05
0.002
0.02

28. 6@9Q @ Ol AITER 6 *E gRY 9e°
4 Q4 A2Q1 6QI9 62983 | QAL ATQ
QBT FIEQ 20 FARIRER I° FAAS
AT MBT RIEA NG  FAUSAER,
6R60 2Q G ARIRER 1L° URTRF VR
e ?

A) 45

®) 39
(C) 30

(D) QUEAB 62LG AIT

CSP-24/2-A
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29. Six people A-F around a circle, 29. 629 QY QQ" @3 9@ 99 QI0AI%ER

facing center. B is second to left of A. 2296 A-F 288 | A @ QI9Q §61991969
C is opposite B. D is between C and

: . : B23 IBadaaiesa C88 1 CY E
E. F is not neighbour of A. Who is

opposite A? Y & qwi6a D 28 | A @ 96911 F g6 IAq
. Qaeiesa @ ag ?
b ‘ .
@ C © @) C
® D 25 | B D
) E © E
@) F iy - O F

@\’ew letters are added to the set of | 30. aqig QdFIRIR 6QQ 6Q o 2!&8&,

English alphabets where the | cQIPIER UERed Qe 57.1 4% 0
number of consonants gets increased
by 57.14%. If the number of new . BN IS Roe: SUWEE (o ou

consonants equals the number of | 90ed QW W@e QAR g4, 6969

new vowels, by what percentage QEeed e 9094 G9R QAR @Al

should the vowels count be :
increased further in order to make ,9'9 9094 JaRIg 6@6e geee QR

the count of consonants and vowels . QQIdRN 6] ?

equal?

A) "50% @A) 50%

® 94% Rl @) 94%

© 6% o © 68%

D). Noné of the abO\_'re . | D e9cai fg 6dedd qed |

CSP-24/2-A 18



question,
Statements,
Take the

given some
followed by some,
given statements :

even if they seem t:t l\)r(;ri:::: ’
from commonly known factse
Read the conclusions and the .
decide which of the give:ll
conclusions logically follows
from the given statements

disregarding commonly known
facts.

Statements: All

makeup. All makeup
are product.
fake are product.

Conclusions :°

I. Some makeup are fake >
IL.

II1.
IV.

All produet are beauty. »
Some makeup are beauty. »”

Some makeup are fake is a
possibility ~~

(A)  All conclusions follow
B)

©)

Only conclusion III follows

; follow

Only conélusiqn II and IV
follow

D)

Pipe A fills tank in 6 h. B in 8 1,
C drains in 12 h. All open together.

32.

beauty are

Some

Only conclusion II and III

31.

32.

Ti_me e 46 % 7;/* cHIREINI GR8 ARRIR AR ?
{A) 4h R=% 77 (4) 4¢h

® 3h Le-ntip ® 3h

C) 24h ' > (©) .24h

M) 6h @) 6h

3644 : FORYe 9gca 78 598 FaeB |
oraea i @8 Gad JuARE | 9eR
IQ0GPQ A46QR uG Fa, 936 6agER
ARINES REIGEI SeMOIQ SR AR |
fad aQ 9o Oraea dda @a 6a gt
Fedgee MR 6RUS QRINESS €IS
QaNQ A6Rd 9F SIFQ AIR6a FQRIFR
2QARE R6Q |

v
L ]

a8 ane ededy eaqeq | QA8
6FIRAC QIR | 78 oM AQIQ |

@8 6AQaY faf |

Q08 @gIe 6dIRd |

. 38 6nqaq 6d1RaY |

. @8 601R210 AQR 62910 ARIeR

(A) 208 a8 2GARE A6 |
B)

©)

6QeR Aad I1I 2gA08 Q6 |

caee Aad II 9o III 2gaed
@eal
(D) 69w Fa8 II 9e° IV 2gQed
- Q6a |

AIRQ A 615 6 A4i6a, B 8 A6 Yo
@6a 1 C 12 9968 HIR @6a | A3 IR0

CSP-24/2-A
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turns 90° in the clock wise direction,
then 180° in the anticlockwise
direction and then 90° in the same
direction. Which direction is he

facing now?

(A) South
(B) South-West

(C) West

V(D') : South-East

34. Pointing to a bhotograph of X, Y
said, “The father of his sister is the

husband of my wife’s mother”. How
is, Yrelatlon to, /g @ x@
(A) Brother
e XY~
B) Brpther-m-law '

(C) Uncle

&D)’ None of these

33. A man is facing North-West. He

33. @66 cRIe @@A-08N dag ¢ @d Jal |

621088 | 69 ARG FA6Q 90° IMER
99 Q9IRGIQ FAR1C @G6Q 180° gRER

1Q° QIU6R 6A2 @96Q 90° QNER, 64

. 69 699 QoI ¢ @4 O2I 621983 ?

(A) <R
B) Qﬁaea»_ﬁﬂ

(C) Qfa

. (D) a8e-ge

34.

X @ 9@ I601Q IR Y @26, ‘OIF

Q2916 QI 661l 1A AIAIT AT | 6969

- XQ20 YRR Qg8 ?

: @A) am (Brother)

(B) QIQQ@Q1 (Brother-in-law)

. (C) QI (Uncle)

(D) gag 6MadE ged

CSP-24/2-A
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Study the - given graph gpq

l < -~ e~ ~
answer the following Gk I ARG RORge g99¢ea 94
35 and 36 (Production o QY 35 9 36 @9 ger @a |
respectively 200, 400, 600, goo, (@QergPe QaiIgen 200, 400, 600,

\

800, 1000 and 1200)

900, 800, 1000 9<° 1200) |

Production
~B88388E%
Production

5888883

Q
L

Years

FLeEdyess

35. During  which year, the percent | 35. g¢ esigfea Qe gerica 6ad o9

increase in production was highest =
: g QISR 98 9566 e gRl 2
as compared to the previous year?

@ 1989.90 | | @ 198990
(B) 1990-91 (B) 199091
(©) 1991.92 (C) 1991-92
D). 1993-94 IR D) 1993-94

36. During which year the percent | 36. g4 QdgEen @QRR gRAI6R o4 A8
increase in production was lowe.s'_c as : @qmq; Q& goee & 28! | G1Rl B6RY
compared to the previous year? : '

aq?
(A) 1990-91 i (@) 199091
(B) 1991-92 ' ' . (B) 1991-92
© 199394 , (©) 1993-94
D) 1994-95 e G 2 (D) 1994-95

CSP-24/2-A = 21 | [P.T.O.



e G 169 49 298 QYIAN o
87. If a mirror is placed on the line MN, 37. 9@ MN 69l 4N, 6o6q

~ then which of the answer figures is | - e @@Q & R 99 aQq a0q
the correct image of the given o8& ?
question figure? ' P
: g48d:
Question Figure : ; .
[N
SR 1 T
’ M
u . .
: Qe 89
Answer Figure :

S S E P RS 63 s s

@A) B © O™

@ ® © o

38. Which one of the following is NOT a | 38. _QﬂQllll Qﬂl_élli? R @ﬂﬁﬁ@ cIQ 6RQ%

way of thinking in order to solve , G %
. : 08l PAQIA IR QAL Q68 ?

problems?

A) Algqrithm ' T ’ A) AREAFE (Algoﬁthm).

(13)' Trial and Error " B aom wg@(Trigl and Error)
_ (C). He,uristics ' | i | ©). 26596 999! (Heuristics)

D) 'An’a-grams , e - D) E’Jli-;lglﬂ (Ar;aéramg).

REN

CSP-24/2-A ‘ 22



'39. Direction : Below the ° ‘
: question, | 39, Geaa : GoRYe Q46 8. 998

are given some  statementg

followed by some. Take th; Suaed! erasa v &8 fad Q2IAIeE |
given statements to be trye, gee GqiqPq ameed A R, 946
even if they seem at variance 6Qgee ARIGESs REIGE SAOIQ &

from commonly known facts
Read the conclusions and then A6024 | Fad 0@ 9e° /a6 4A @A |-

decide which of the given 60 goa Gadgee AU 6Ed ARIGESS
con¢lusi°ns logically follows QEIgEI GEMQ BE6RH 9 SRR QINER |
from the given stateme ' '
nts a303a8
: s qq8qg Q6 Q64 |
disregarding commonly known Aok .
facts.
Statements : Some water is plastic. qo&: @8 ad 913 I-
No plastic is milk. B s
B e 6dl6d QIER 910 §6% |
Some milk is drink. 3
: S ) @28 QI A4 |
Conclusions : ‘ oad: .
I.  All milk are drink. > @ I . Qe [N AR |
II. All drink can be plastic.% ’ £
. L I QRS QIS IR 6LIRNAIER |

[II. Some water is not milk. v/
4 | . &8 Q& 91egee |

‘.

(A) All conclusions foﬂow. ‘ - (A) Qag aad 2!(3@%1 @6 |
(B)  Only conclusion II and III (B) | caaw qad ~II‘ a° TII 2268
follows. | e Q6a |
JQ)/ Only concl;lsion 111 fqllows. ‘ (C). 6@ @Qﬁ 111 29204 R6R |

(D) 6M6TE 2GANE R6R AT |

dl))/ None follows.

CSP-24/2A B8 s [P.T.O.



N RMEESP T
‘ a $8Q /e @9 |
40. Find the water image of the | 40. 7R &¥d .

following : - | ' wATER-IMAGE
WATER-IMAGE @ EDVWI-HALVM
@ FOVWI-HALVM ®) MVIFB-INVCGE
b) MVIAB-INVGE ) MVIEdINVCE
(© MVIEY-TNVGE @ MVLEB-INVGE
@ MVIEE-INVGE

@ @ , - @ @

®)- ) | S ® o

©) (© . © ©

O @ ‘ ' D@

(9‘wo trains of equal length cross a | 41. Qi@ g 989 9aC 6g] QaIgen 12

. pole in 12s and 15s respectively. In
6d6@d 9Q° 15 6Q6R96Q Y@ 6UINg

how many seconds will they cross

. ‘ . : al"“ = = -~ -
each other if moving in opposite |80gA @6a | 9@ Jaare Jaea 986

directions? 6U6Q 6Q7NER 6R6L 6A6REER doeeq

“@; S USRI RRER ?

@ 135 L |- @18
B) -27 . | ® 27
© 12 - © 12
®) 105 | . 1 ®© 105 -

~ CSP-24/2-A o s | _' 24




mct the missing number from~ the

given responses : 42. YIRS AHITY 6aS ?
5] 5]
30 sy Bl
| 18 12 | ™ m : ‘ 18 12
@) 12 @ 12
®) 22 | ® 2
©) 18 ' ©) 18
Dy 24 : D) 24
Directions : (Q. Nos. 43 and 44) A R6eRaIe91 : (99 43 @ 44) geeNe gL

-cube is painted blue on all faces

is cut into 125 cubes of equal size. GIg6a F10 6FF AGIAIRYS Y@ °Y

QIR ARIAER 125 AXRER RGN,

43. How many cubes are not painted on | 43. Q60  qe@Idea QP!  oF |

any face? et ade
@) 8 | @) 8
B) 16 ' ' (B) 16
- (C) 18 - (C) 18
®) 27 s - (D) 27

4. How many cubes are painted on one | 44. 6geR 691G eaIsien 6766 are oa

- face only? 98 |
@ 8 | @) 8
B) i6 | o - (B 16
©) 36 4 ~(0) 98
D) 54 ) = D) .54
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R

46. Population in State A is greater

(A) 50%

Direction : The Table given below

related to
literates
thousands) and the percentage of

' the

and

population,

illiterates (in

literacy in three states, in a year :

State | Population | Literates | Illiterates |Literacy (%)
A | 50000 | 6000 | Gyew| -
’/010 10000 | 15000
C 60000 12

After reading the table, answer

the following Questions 45 to 47.

Percentage of illiteracy in state B is?

&) 50% w/{ 21V
®B) 755% °
€) 45%

60%

than population in State B by?

-~

¥ xw
B) 40% oo
(C) 80%
®) 100%

45.

46.

@

(A) 50%

D) 100%

Bead: Gqen @4IAIRYS! 69g8F 6aId |
odea G6qIe AIRNa SAA°A, ARG,

1e Gameel (291Q 2RI A°eMIER) 1

QigacIa goae acRd @48 |
aley | eeeeen | asee | Feseel | ABGS! (%)
A | 50000 | 6000 - -
B — [ 10000 | 15000 ]
C | 60000 12

(6ogR aRIGER gq QoM 45 Q@ 479

90 geIe @a )

Qg4 Ba §o800Ia 219 6@63 ?
0%

B) 55%
(C) 45%

D) 60%

QIS AQ RQ°S 219, AURY BQ #aQ°SHI

LU0IQ 6R6L AR ?

B) 40%

(C) 80%

CSP-24/2-A
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e . "
47. Population in State A is less th
' an

that of State C by?

\®

. '

(A) 16.67%
B) 16%

(C) 17.33%

Dy 20%

48. The process of judging some problem
situation on the Dbasis of its
similarity with one encountered

earlier, is known as

(A) Anchoring heuristics

(B) - Heuristics of

representativeness
(C) Adjustment heuristics

(D)  Availability

48.

47. QIRY AQ LRGN QIR CA SRAHIOIR

6960 Q6 ?

(A 16.67%

(B) 16%

© 17.33%

(D) 20%

Qi Qgele RISl QA A

aFIRG! 2RIGEa §8 AIAINGEE FoIR

| QRQIa gRAIg QRIAN ?

(A) aee B8]  (Anchoring
heﬁristics)
(B) goRuge 9408] (Heuristics of

representativeness)

| (0) 210996A% 438} (Adjustment

heuristics)

(D) QORRG! (Availability)

CSP-24/2-A
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49.

Direction (Q. Nos. 49 and 50) :
Match definitions to particular
situations. For each question, you
are given a definition and four
possible answer choices. Read
each definition and all four
choices carefully and find the

answer that provides the best

example of the given definition.

People speculate when- they consider

a situation and assume something to

()

be true based on inconclusive
evidence. Which situation below is

the best example of speculation? =

(A) Francine decides that it would
be appropriate to wear jeans'to
her new office on Friday after
reading about “Casual Fridays”
in her employee handbook

®

Mary spends thirty minutes
sitting in traffic and wishes

that she took the train instead

of driving
After

guidebooks
agent, Jennifer feels confident

that the hotel she has chosen is
first-rate

© several

consulting

When Emily opens the door in
tears, Theo guesses that she
had a death in her family -

and her trax}el_

49.

Geva (g9 oy 49 @ 50): &9
a6acade ateIdl 6AR @] | JeNR
geas gAg e GGRIAl ¥ QI6aIS
qam Qea o0f QAQIQ FUARE |
geeue OARII 4e° QNP QI6AIT aQRg
QRNIES 9 9° gIR aﬁengla Q6dIee

Q1204 gIIF RQYQI 28eT 63IR |

CRIGAIER 6T6P6R6R  6QAIER 4@

QGgGq GoIR @aB, QAR QA8 e

2Rge gaId QU6R ARG @8 Ay

cOR §aREE | Fgea ced adEs
29AIRQ A6LIRF AALAE! ?

&) gRe O QoI IR 6Q
AR FINEeY I396Q
AGITEa gaeIa @@ QT QeR
QduRog § Of JaI @fQ 6aR
Q98 60988 |
60Q1 QIR oea BaafdRe

- QQedeIg Q1218 9e° RIeE 6Q 6Q
AE SRR AFIER 6] R
QRS Lt

B)

(C) 2689 AIRY-GR] I9° QT CI6OR
69T QA6 qAQINd RAQIT6R
620U ARYA 2ge Q08 6
6Q 699 62I66R, QIFSS, G2l gar
cgaIal

6960696° TR QP @B 9.
6BIREIN, 26 2AGAIR *ad 6 QIF

(D)

CSP-24/2-A
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53 Embelishing the Trath seprs w1 ——
n

50. cacosasR 5
. Qe Q  adan,
a person adds fictitioyg details o | - Q AR

; r

6dER6Q a A0 &
exaggerates facts or tyye o R @68 N le Qaadll

Which situation below is the pegt HENOY . Sl 900, 41 Goteiidly

- example of Embellishing the Trytp? UQBO Q6Q | §g€a 6@ JGEG Qeig
ARIRRIQ IR AQILNE?

~ (&) Anuradha goes to the theatre, A) 2gaRi g4eag QIRIE e 9ede
and the next day, she tells her 6Q QIF A2RAIg @28 64 QIERT

co-workers that the play was ;
. excellent QQQ e

B) a4RQ (Realt eI
B) The realtor describes the S el o (-)r) S =

house, which is eleven blocks - 968 g a6 9o A
away from the ocean, as prime  (waterfront) Q¢IR RIERA Q4o
waterfront property | Qe I

(C) During the job interview, | (¢) @idd QEIPRIA AAAER FERHIR

'Rahul who has been teaching i
gRfe Queasa 0 9gYel

elementary school for ten

: e QgR Feq @ oR &
. years, describes himself as a , p o4 U013, TN SIS

very experienced teacher Q6 QLR 295 |
(D) The basketball coach says it is D) <I6ACSR JATe @28 6d 12 AAQ
likely that only the most ca  6aee agolg  gaeIeR

talented players will get a = ‘ ~
, cHARAIER @R} ARSI

college scholarship
' qIRER |

L

CSP-24/2-A | 2 2% [P.T.O.



51. If 20% of x equals 30% of y, then | 51. 9@x@20% =y @ 30%, 696@ x: y=?

x:y is

@A) 2:3 @A) 2:3
By 8:2 ' B) 3:2
© 3:5 - () 3:5
@) 5:3 S @ 53

52. The sum of cubes of first 10 odd | 52. gaq 106 2gq g4 IR AT AN]

natural numbers is

. 6R60?
(A) 2025 A) 2025
(©) 3025 © 3025
D):-9025 D) 5025

53. How many times the minute hand | 53. Qgia §7c @4 6 Q&I Qg @QQGQGQ 2

and hour hand of a CIQck form

. 90° Ni@@ Qé&l‘q |
90° per day?" |
(A)—. g ' @) 4
B8 (B) 48
N © 22
D) 24 ©) 24

CSP-24/2-A ' ' 5 ) B 30



caller says that he has plante '
pomb in the hall, but many fake
threats have been received before,

What will you do?

9 Immediately inform the Police
ask them for instructions op
"how to handle the situation

and act accor&ingly

) Immediately call the Police,

e

enter the hall and announce to
the audience about the bomb
threat and ask them to leave

the hall immediately

\y Enter the hall and announce

that there is an emérgency and
hall without panicking

have been received in the past

We Manam

h511 and receive a phone cqf] The

ask the audience to leave the:

(D) Do nothing as fake threats |

[

54. 967 @ Q6rrIen, o caoRe <& 9

QIsig 1@ 6TIQ @R ATV 1 61} FQYS!

M3 @988 60 62 o8 FwIea 6l

Q41 @9 9dg 26re Aey uAQ ARG |
966 @'6 @3 ?

A) 908 6aIRA] REI2 | 9GEGQ FaR

daoIeel Qae, 6 daaca A6

Q161 Ie° 6RGIER ALY @9 |

(B) £98 6dIAAg €@ 2N 6@ g6
e Ie° Qdeg 6QIF MAR ééase
eamél Qa | 627I9g 908 2R |
aReIg ga |

(C) 28 §e0Q g6d @ 1e° cuIdal |
Q9 64 99 SRAIRINR 0B%6 25 |
Qg QARIe @ eszm-éq. 26
@

D) geg favee ﬁ@d@l@ a8 |

Qe |

CSP-24/2-A
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55. A cube of each side 15 cm, has been

painted with ¥, ¥ and z colours on
pairs of Opposite faces. It is then cut
Into a sma]) cube on each side of
3 cm. Then calculate the différence

between the

number of cubeg

painted on al) three sides and cubes,

which are painteq on only two sides.

(A) 36

®) 28

©) 16

(D) None of the mentioned options

55. g6aye a1 15 6.fiq ¥@ A9Q Jaqie

D)

90 6QI9I6R x, y 49° z QF 236 og

QARG | GIT6R v2g 3 6aF. aga

g6 e 9@ esiIe ageq QI

RUALE | Qgeq 06RIe aidea o
RAARGYSI ARR ¥ 629 92T aIdeq

O FAUAIRYR AR ARIER AN FaQ)

@ |

A) 36

B) 28 .

©) 16

WMYe 9EYPR RIQ  6PleTd

geel. -

56. How many squares are there in a- 86. 8 x 8 én(maa S9SN 60Q 691e6Q
: chessboard of size 8 x 8? s e
EREQIQ QAE]R Al |
(A) 184 A) 184
B) 194 ‘ B) 194
©) 204 C) 204.
- D) 214 | D) 214 -
5 T et e
CSP-24/2-A




pirection : Read
assage and
57 to 60 below :

Effective problem-solving and
decision-making are Crucial skillg fop
navigating life’s challengeg, both
personal = and Professiong]. The
-process is not a linear one but rather
a cycle that often beging wit}, clearly
defining the problem, A common
pitfall is to rush toward g solution
without fully understanding the
underlying issue, which can lead tq
treating symptoms rather than the
cause. Once the problem ig defined,
effective decision-makersg generate
multiple potential

Ity solutiong,
resisting the urge to settle on the
first idea. They then evaluate each

alternative based on a set of criteria,
such as feasibility, Potential impact
and resource requirements. This
step often requires g careful
analysis of trade-offs. The final

the fo

llow
answey Owing

question

decision should be a reasoned choice, -

not a quick, gut reaction. Post-
implementation, the process

concludes with a crucial review of
the results to wunderstand the
effectiveness of the chosen solution.
This reflective step is vital for

learning and refining one’s appljoach -

to future problems.

87. According to the ‘paragraph, what is

587.

feda: Balqe ageae agg Ie° O6@
g1 94 57 Q 60 @ 99 Fug:

FI0RQ B9 1 QRGeS MERSER
ARRRI QG AR geIRAIR! an
QAR 9Q° IR ged ANS 9PRJE
QRO | (@ 9T IR 60D Q6L QQ° I
o QIR Qe AWANY § VWA
JORITC QF RA 24 | YR ARIRE FAQ
6208 28020 AR ang QI6a @ QR
QAR 219G VAR, AR RS N6
RGP ©RA Qdakal AT
aoeIle 629 46, gRIRAIN @I
JeERIRIAIEe AN UGEI QT6a F
62910 QRIY JO6aRI @R Q@ QUM
QRIe Q¥ Q08I oraea  62AIeR
QRIS AR gRIF 1Q° AR AR
OF AIRAgR YR €3] RWER AR KK
Q6P TREQ JRUITR Q6B | ¥ 9Q6aa
QIS QOGS 6REIERER (trade-off) IR AQQ
QRe T6439 AR | PPI8 TR 9@
9898 AW 62q1 @6, @ a1g, 2198
953 962 | QAR ace, gRAIG
RIS AWNILA GAINAINIGG Q!

ae IRTRGPeR 1@ eegd el

Qe 669 29 | 9RAIeR QAAIgER 9%
SS9 B FY 9@ Ao Qael
a16l 12 To10a19 02684 2e¥ QeRad |

CSP-24/2.A

the first step in effective problem- - 22?;2,& ;;%gg:;'eﬂqg:gim' niap
solving? ' ' '
89 Generating multiple solutions () g QAR Q8] be!
(B) Defining the problem - (B) QAuIg ateile eGel
(C) Evaluating alternatives ©) JQegfea APITS 3!
D) Implementing a decision D) [\ AdvR Q§§|
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« 1 g S =
58. A “Common Pitfall” mentioned in

the passage ig :
(A) Taking to long to make a
© decision

Settling on the first solution
that comes to mind

(B)

©)

Generating too many potential
solutions '

D)

Failing to consult with others

59. What js the final and often
overlooked, step in the problem-

solving cycle?

(A) Informing others of the
decision

(B) Reviewing the results of the

implemented solution

©).
D)

Redefining the initial problem

Delegating the next. steps to
others

60. The evaluation of potential solutions
should be based on :
#A) How . quickly they can be
- implemented

Personal feelings and biases

#B)

(C) Criteria such as feasibility and

impact ‘
The  solution’s  popularity
among team members

D)

58. ZQERIEA AERY FAILINYS! IR “ARIQE
QAQ" 6208

59.

60.

&)

(B)

©)

D)

AR 6RQI6R AR QA9
6QQ

Aeq IRl gan AARIS KW
da @Gl

AP AAUY AR I§ *AQ

aAIeE Q%0 aqd edeisa
QTR 629

qAQ AARIP 9FER 2B e Iaes
G623 RAUAIRYS! IR FE?

&)

B)

©)
D)

A3 FIA6Q AMAING RAINS

AR AARIFR TITR AN
@QQ!
dIoAe IR gRadeISc ede!

a0Qell  0eNEgE]R  FNAIRG
2212Q *AQ! ‘

QAN AWK ISR 9@ 2RISR
629l @9¢:

(A)

(B)
©)

(D)

6AgPQ 6@6e &1 IRl
RAUARQAIAR

NI VISR Ie° A/
QRANG! 9e° GRIL 8F FInee

R QAT RIEA AARINA
eRRGAQ!

CSP-24/2-A
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61.

62.

- IIL

Direction : (Q,
Each of the
below consistg

followed by three 2 e
ents,

You have to study the by
ion

and the stateme
. nts ;
which of the statemeand d.eclde

necessary to
question.

What is the averg
students studying in

glven
question

8¢ age of 45
a class?

L The average age of boys is
15.4 years while the average
age of girls is 14.¢ years,

II.  Boys and girls are
respectively in the ratio 4:5.

The number of boys is less
than that of girls by 5.

III.

(A) OnlyIandII

(B) OnlyI and III

(C) Iand eitherII or III
(D) AlLIIand III

g
What is the two-digit number? R

L Digit in the ten’s place is cube
of the digit in unit’s place.

II.  Digit in the ten’s place is four
times the digit in the unit’s
place. ‘

The two digits are not equal.

(A) IandII only

(B) IandIonly

© I and either IT or Il only
D) Any two of the three

Fede : (@4 @aw 61 @ 62) o6w
QUARYR GeMe ggen F6RF §9d
A@e WYy O® | gag 9§ @
FQ0YeQ AR QBQIg afe e Aed
63QIQ 9PQ 60 94Q 99 62T 69

Q0 (9F) aIeaye |

61. caIS 6gaea ageQl 45 @6 oGS

AL} R0 660 ?

I QAPS QLR 99Q 15.4 d
6K606Q6R FAAIRT AR

Q99 14.6 94 |

II. g2 9 ee QaIgen 4:5
2Q0Ie6Q 283 |

Il  QaAee Qe SRS gRAIea
5@l -

A) 6ee@ Ie° Il

(B) 6w I4e°III

©) I II&Q I III

D) Qg I, II9e°III

62. QAT T} QI Q€ ?
. Q4 206a gl ae 6298 9AQ
QIRER QI AR AR |

I Q8 QIe6a g9l 26 6208 9]
QR6Q YQI AR SIAQ4 |

I 9% 2 QAR g6< |

(A) 6@e@ I9e°II

B) 6eeeqee III

(0 INeIIQQ I g 6QIc
D) GealE g 6aead g

CSP-24/2-A
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63. The present age of Mr. Sanyal is
three times the age of his son. Six
years hence, the ratio of their ages

will be 5 : 2. What 1s the present age
of Mr. Sanyal?

5
1|l2|38] 4
SRR o

Which number was opposite to 1 in
the cuboid?.

w3
®) 4
©) 5

D) 6

S, W
Hhow M
(A) 48 years a
e
(B) 50 years Wt s A
e S
}Q 54 years N |
: 6 T %
(D) 60 years o~ &5
i S0
M
64. Study the following figure :

63. 4199 AMIAE QAP QA OF Qaa
Q0QQ 57 94 1 69¢ 6 ATACR 6QAIRE
Q0QQ AQAIS 5 : 2 629 | §IYS ANINS
QRAIR Q0D 6966 ?

(A) 48qd
(B) 50ed
(C) b54ed

(D) 60ed

64. GeqIe 58Q AR @R |

A2eARQ 10 ARG TR YR LT

Q210 9Q |

@A 3
®)
© 5
D) 6

4

CSP-24/2-A
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MD : (Q. Nos, 65 and 66) :

The graph below shows the

roduction of Maize and Jawar
(in ‘000 tons) over the period
from 2011 to 2016. Refer o the
graph below and answer the
Questions that follow :

02016 B20156 D 2014 2013 M 2012 092011

Jod

vvvvvv
nnnnnnnnnnnnnn

LA Bk o o

IILT I 7IIr 7770 777077000 /'I

0 100 200 300 400 500 600 700

65. The ratio of production of Maize in
9011 and 2012 are : ;

@A) 3:11
B) 7:22
© 35:11
D) 7:10

the production of Jawar be 100%
greater than that of Maize?

(A) 2016
(B) 2014
(C) 2012

66. In which of the following years will

Pr et b
G604 (99 Q9 65 4Q° 66) 96F gel
giq 2011 @ 2016 adie Al 4@: ﬂfl
(Jawar) @Q1e® (000 &R 6a) @dIeal
Q6ReQl QIT 694 faRge g9e @aa
Q|

2016 @2016 02014 02013 02012 ©2011

- . r 14
e r’g .
- P 2

................

L A A b bndnd

65. 2011 4Q° 2012 6@ ARl QYRR AgdIQ

6208

@A) 3:11
B) 7:22
() 35:11
@) 7:10

66. 0eQe1 6ed ad geesa G (Jawar) Q

QQIQe ARl ARIER 100% 2@ 6297

@A) 2016.4
(B) 2014
(C) 2012
(D) 2015

L(D) 2015

CSP-24/2-A
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67.In a class, 40 like Math 35 like
Science, 30 like English; 15 like both
Math and Science, 12 like Math and
English, 19 like

English, 5 like all three. How many

like atleast one?

Science and

@A family of two generations

consisting of six members P, Q; R, S,
T and‘U has three males and three
fémales. There are two married
couples and t_wo unmarried siblings.
U is P’s daughter and Q ié R’s
mother-in-law. T 1s an unmarried
male and S is a male. Which‘of the

following is correct?

y(B) RisS's wife

(C) Sis unmarried

(D) None of the above

Me-vyo xs—ls
A) 85 §— 3¢ Mp £ 12—
&~ 30 Sy E-1e
(B) 83 S o
(C) 178 @
D) 75

L&) RisUs husband% % @ g

67. 6qIG\ 6861160 40 94 98eQ, 35 Q4 |
WY, 30 98 ARG, 15 ¥ AEG
9éie 6 FRIRY, 12 94 GI&C G R°AINIG,
10 96 GRIQ G QIR 5 K¢ F6RIGQ

d9Q @98 | AFRN 60 6REERE 60ITNG
dAQ @93 ?

A) 85
(B) 83
.(C) 78
D) 75

68. g2 @8 QeQy P, Q, R, S,.T e Ug
60R 06 9@ J9x Y@ JAQIRER 37 94
Qo9 \e° 57 94 A2 2851 9aG aide
S 9Q° QRS 2RQIZG AUKRRE! 283 |
U 6208 P @ 82 9e° Q 6208 R Q 44 |
T 6208 966 23126 gQE ¥e° S 620

@66l go8I B9RYe g 6965 O] 2
(A) RegeBUaAl

‘(B) Reee@Saql

_ ©) S 62ef 2ae@e

(D) @a6aIB FRIP 6NOIT g6

CSP-24/2-A
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Wbinary equivalent of decima]

pumber 98 is? 69. afie QoM 98a QIR AAPW

62e8?

A) 1110001
(A) 1110001

) 1110100
@ (B) 1110100

(C) 1100010
(C) 1100010

111
D). M (D) 1111001

70. Select a suitable figure from the four | 70. ‘7’ &g gQl QHi6AE AIR SI68IS FREQ 1@
alternatives for the square with the

QaYe 53¢ QI8 |

mark 7

&

—

@r
] \@?

fY@ 22RO

OB
h

1 2 S 4 1 9 3 4
@A) 1 | (A) 1' \
® 2 e B i ® 2
© 3 © 3
@)y 4 @) 4
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| Directions (@ -

71,

(Q. Nos. 71 and 72) :

Each of the questions below

data
statements are

sufficient answer  the

question,

to

Seven persons A, B,C,D,E, Fand
G are living in seven different floors,
Ground floor is numbered ag one
and the above floor is numbered ag
two and so on ti]] the topmost floor

1S numbered as seven. Then F liveg
In which floors? |

I E lives in the odd numbered
floor below A. The number of

71.

3ecaIeRt (9. 71 8 72): 96° FRIAIRYY |
g6SHR 9q6a 9q 19 96R QAAIRYQ)
L II, III Q°gv G898 S6rIS Q& a2])
gaeq 398 ceQig afe ca Igdea
AR oeN g4 99l 69l aig
Qcaq & i 1

A RE @48 A, B, C, D, E, F 9e° G
QUGS 82 F2NIEa 0gadI op ALRIQ IR
Ol 9UQ AL 9R FgQ YRAA QIeeq

AWCIP NLAIQ AS AR W SQITIeS |
F 606 129168 Q12 903 ?

L E A e 2gg ooy aag
FeRI6R Q62 | C Qusa geq

Jo floors above ¢ is the same ag shaiesian sl K
/ below D. QiR | ;
Il There are two flgops between I B A ageel g auea ge%
where B and A live, G does aeml 281 G 99 Qwy 559
’JL not live in the even numbered 2RI Q6L QIZ | K agq QS
floor. E lives immediately " &3 69 8gee1 D 0% agsq
above D who lives in the odd b oot & =
numbered floor. AEReR a6e |
II. A lives in an even numbered I A e 9 Qo IT9 Aeqiea
floor. B lives below the third 9621 B 9019 (2R 969 @62l F
floor. F lives below C. C lives Cosrase1C G Ol 9@ el
two floors below G. 069 Q62| .
(A) Only I and III are sufficient to (A) 6ae@ I & III 49 @eq 694l
answer the question e Q62g |
(B) Only I and II are sufficient to B) 6@e@ I 9@ II 999 QA 69Q
answer the question QI Q628 |
(C) Only II and III are sufficient to (C) 69e@ II 9e° III d99 eaQ 6.Q
answer the question AR A62] |
(D) Al II and IIT are sufficient to D) <A” I, II <° ITI gga aea coql
answer the question AN Q62 |
CSP-24/2-A 40



77, Among five friends S, T
W, in which directjo, .

»

T i '
}« Sols to the West of U and
utheast of V, who is North
of S, Vis to the East of W.
I1I.

W is to the South of V and

North of T, who is to the West
of S.

(A) OnlyIandII

72. QB 9698 S, T, U, Vae* W eriea, W

AN6Q S 699 F96Q 2F?

I SeeedV aadaea e U@
@F96a | U 6208 W @ adiq6a |
T ¢2a@ U @ afiqea 9@ V Q
QRegeee, B9 S @ eaesa | V
628 W Q996 | |
W 6208 V @ @@¢6a 4* T @
Qa96Q, 54 S @ a&a6a |

IL.

III.

CSP-24/2-A

A) 6aeR14e° Il
Only I ’
B v % B) ceer e III
F"""
(C) OnlyHandIII S (©) eeee IIe°III
/(D) Any one of the three (D) B6aIT AuQ 6A6ET 691G |
| - w S
73. Select the missing number from the | 73. WRAYQI ARER AHIQ EMSI?
given responses '
. 8 131589
8 3|59 65|35
6 |5(35 12121 2
121247
(A) 98 (A) 98
(B) 88 (B) 88
©) 108 (€) 108
e (D) None of these D) gER I 6NERG 6% |
41
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[ Read the fgllom—

ead the following passage and

answer question 74 and 175
below : |

At a weekly team meeting, the
project Mmanager, Arati asks for
updates on the “Pratham” project.
Rabindra, g junior team member,
reports that his part of the project is
facing a significant delay due to
unforeseen technical complications
with a new software module he is
using. While Rabindra is explaining

the issue, he

seems flustered,
avoiding eye contact with Arati and
speaking in a low voice. As he
finishes, his colleague, Abhilas,
immediately “The
problem is that Rabindra didn’t read

interjects,

the documentation properly. The

instructions for that module are
very clear.” Another team member,
Sunanda, Rabindra’s
discomfort and calmly asks Abhilas,

“Did you have a chance to look at

notices

Rabindra’s specific code, or are you
that on the

documentation?” This prompts a

basing

more constructive discussion where
Sunanda offers to help Rabindra

debug the issue.

general ;

@08 64 OIF R 2°9 OIF QTR

RaRYe 296ae 09 19" O6R 29I gq
74 49° 75 @ @99 Fg:
AYIe R 63096q, 98 AR
2R gaIr gas 906 J6eq AI9S |

P66 AR ARA A, AQ1Q, A6aIT

QYR @ 9OR AdCER AR AT
AYNIFC 6Ta0e *6wel ealg acag

R AYHIP 6208 | Q919 A

QAR ANDER, 63 TR AA A6RgY,
2I001E AT9 YR AT 1IN M1GI96a
@2 62083 | 62 QMY 689 @GR AlI6Q
QT Q201 2RI o8 QI 9 6B |
A 6203 64, ALY 9Q6AEEAR OR
Qe 97 fgeR | 622 Agum QiR
F6TaI01 999 ITI" AN 96 <9
@A, geel, AIee 2939 QWY @28
NQ° 4I3 AR 20RIAG d@l@é, UGS
aIeiEa aQ1ee §49 6QI 69gIa g6ald
gal @ Q AAG AIKE SQUEACEAR

QUER AR RQET?" 92 9@ 2R

AORRR  ERORIQ  6gREI &9
699068 gRRI QRIS AR TCIIR
QAI6R ALY *AAIQ 9B 5213 |
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. g :
and offering to help Rabindr::estlon
(A) Leadership,

by takin
g ch
and o

solving  the

techni
problem herself, e

‘(B) A lack of objectivity, by siding
with Rabindra againgt Abhilas,
©) Empathy and active listening,
by recognizing
distress
the

Rabindra’s
steering

toward
collaborative problem-solving.

and
conversation

D)

A systematic communication

technical facts of the issue.

75. Which of the following best
describes Abhilas’s communication

style and its effect. on the team

77, What did Sur%
asking Abhilas a clarify;, te by

style, by focusing only on the.'

4. 20Q8e @ 991004 g¢ 991 9e°

QQI9q A QBRI gaIe 6aR IRl
Q'€ g8 ARgeR?

(A) 60gR, @idQ 679 99° F6r 6380@

AR AARIR QA

(B) 26RIES IQAEA QQIGT OF 609

QghIGIa ARIQ

(C) Qeigge 9&° @A §9d, AT

queIg 0F ¥e° 2ERISRIQ ALEAIT

QAQY QAR 2ISY 699 |

(D) 6eeR JATQ 65ade o2 QJea
e 690 9@ NQEe 6diqledld

681 |

75. 260I8e €OIICAIN 63e1 WQ° @R

G361901 QU6R 12R geIeg AgRYe
FRIQ 646 A6TIRA AULER LR F6R?

dynamic?
(A) Assertive ‘ (A) 2691894 (Assertive)
(B) Aggressive B) NS (Aggressive)
(C) Systematic ‘(C)' Q4e9Ioe (Systematic)
(D) Passive-Aggressive ' D) {Fa-agaaae
(Passive-Aggressive)
L
CSP-24/2-A s [P.T.O..



| Read the fgi———

ead the following passage and

answer Question 76 and 77
below :

A senior marketing manager,

Samita, is negotiating g

new
contract with g long-standing client,

a retail chain. The client is pushing

for a 15% discount, citing budget

Constraints, while Samita’s team can
only feasibly offer a 5%
without sacrificing the quality of
service. During the negotiation, the
client’s Jiban,
mentions a competitor's lower price

multiple times, framing it as a non-
negotiable

representative,

benchmark. Samita

listens patiently, acknowledging

budget.
Instead of directly debating the

competitor’s price, she shifts the
focus by-detailing the unique, high-

Jiban’s concerns about

quality services and strategic value
her company provides that the
match. She

presents a creative, tiered solution

competitor cannot
where the client can receive a 10%
discount in exchange for a longer-
term, two-year contract, Awh}ich
ensures her company’s stability and
offers the client more long-term

value

discount

QUARY 0@ @A 9Gees. €Q oI

faRge a6 agg 9 o6e gg
76 4Q° 77 @9Q J2g:

@66 QY 6T ARGIN AV, 964
AR 9@ 9RE MOAD (retail
chain) qQI¥ A% 9@ 9eR QIR
QUea MR *QET JAY Qe
ARV 29 28 15% G21F It o1g
ARINET, 6960696R AT 99 639IQ
JaeRl QRAR PR 6ReR 5% GoId
gaIe @QAIGER | 2RISR  Anaca,
QUG SRy R19R, 9@ gReAITIS 9%
INIQ QFAQ QERS FAT, LG IR 24-
2SN AINQY LR LS 2 | AT
6Jdia Q26 §4I8, Q6RC TAER V1T

31g IR0 @8 | gFeAITIE Ry 9de

QN AR @QYR AR, AF-gEREl
6QQ1 1@° QE6F0R my Jagea §ge
QIFEQ UIR 6RGe Qa8 Qe gsaiat
6P HIRAIGES AT | 6Q U@ YRAHIR,
NG QAR QUYIAR 9ad 6960168
QIS IR QEIRINR, 9R eda 98 aie
10% Q2@ QIRAIRER, ARl OIF MR
900l gARe Q6a e gaisg 2ye
QIIRIFIR RN OIP Q6a |
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1.

©

76. By offering a tiered solutign ———

with a

longer-term contract, what did
1

Samita Effectively do?

(A) Showed a lack of confi
. 2 d
immediately offering la e:llgsplz

discount
(B) Prioritized hep company’s
needs over the client’s

signaling a breakdown in trust

(C) Used a win-win approach to
address the client’s desire for'a

larger discount while securing

a more stable, long-term
commitment for her own
business

Ma@e a strategic error by not
having a more direct counter-
oﬁ:er ready for the competitor’s
price.

D)

Which negotiation strategy did
Samita primarily use to overcome

the impasse created by the
competitor’s low price?
(A) Making a concession, by

offering a discount close to the
client’s demand

Adopting an aggressive stance
by directly challenging the
competitor’s value

(B)

Reframing the value
proposition to shift the focus

from price to unique b.eneﬁts
and long-term partnership

ing immediately by
difference between
5% offers

Coniproniis
splitting the
the initial 5% and 1

X

[ 76.

77.

R QIERIRIR 98 A26 1@ 3R1B AR
goie @d, Af0 gaIediel fIeea @6
*Qgem?

(A)

(B)

©)

D)

gas Y@ dela GeIe gelr @@
2IFR4IAQ 2RIQ 6QHIRAYER |

Q914 QIR A6 6QR, AU
Z6adl QI QMR AR
glafiec! 6eagsm |

ole 0 @uean e e @9,
QdeIRe goenel gelie <8el
qde caids @ °¢ Aol ae
QgIg Q6RIE KRS aiel 1@ §99-
&0 098G 4eeIe *AgeRI

goeaIse Ry QIR AR JUIARS
g6-gaIe gge @ @d 18 adeaoR
g6 @aas!

goeaiaie @f g 91l 98 62ARYQ
2oRIedlg 98 @GSl AR AFGI FUes
624 2ICAIRI AERTE MR *RYEN?

@
B)

(©€)

D)

JaIsE Q12 AIea QT g
QA IR Q20 g9QIe @<l |

goeaIeIe Rig JUAR YIERE

Q0 ¥R GG AN Fed

@aq! |

dRig R QRIe! @A e
QIUQIRIE QeNIGIE I AR
Qs gMgele  (value
proposition) @ Q°6AINA KRR

gIefAR 5% e 15% 99IQ FRIEA
Qg FRIFC @R 908 CAIN

@QQl |

T SCE |

S
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18.1fAx B means A is to the south of
B;A+BmeansAisbothenorthof
B;A% B Mmeans A is to the east of
B;A-B means A is to the west of B,
IfP+Q%R+KisgiventhenQisin
which direction with respect to K?

(A) South-East
- B North-East P
©) North K &
D) West' K

79. Which of the following
characteristics is most important for
taking appropriate "decisions for
socially disadvantaged persons?

(A) Empathy
(B) Extroversion
(C) Emotional instability

(D) Authoritarianism

79.

78. 90 A x B @ &

6208, A 23 B o

e, A+ BRI CWEAT R
aaca, A % B @ 26208 A 28 B g
geea A— B 6208 A 28 B @ afaggq |
a6 P + Q % R + K Q2QI8, 6069
2B K Q60968 686a96Q ?
A) @889

(B) @@9-9¢ '

C) @8R

D) adqa

AT NUEA 9ge MBS 63g6q
Qage GUReReIaR AN gagee
FRIQ 6966 AG0IQ IR ?
(A) QQGHE

(B) ae&iqel

©) «1eged 2gae!

D) egg Q@

CSP-24I_2-A '

80. If a boat goes 30 km downstream in | 80. A% 9@ o9 3 Qeisa 30 Senidicq 099
3 hours and 18 km upstream in | 99 3 99I6a 18 FeRIATa 999 aId
3 hours, find still-water speed. " SAIIea @aag an,
~ 6062 HQ IR6R 629 6060 629 ?
Lo / 3 .
(A) 7km/h (A) 7km/h
\9} 8 km/h (B) 8km/h
(©) 9km/ (©) 9km/h
- (D) 10km/h (D) 10 km/h
- 46



